Quizz 1

Effectuer les calculs suivants. La réponse ne doit pas contenir de
puissances négatives.



Poser les stylos!



Question 1

(a—2)3



Question 1

(a—2)3

Noter la réponse



Poser les stylos!



Question 2

317
319



Question 2

Noter la réponse



Poser les stylos!



Question 3



Question 3

Noter la réponse



Poser les stylos!



Question 4

20 . 56



Question 4

20 . 56

Noter la réponse



Poser les stylos!



Question 5



Question 5

Noter la réponse



Solutions



Solutions

1. (a2)3
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1. (@23 =a""C
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1. (@23 =a0=




Solutions

1. (@23 =a0=

317
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1. (@23 =a0=
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1. (2P =a0%=|—

317
2 3T9 — 317719 — 372
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1. (2P =a0%=|—

317

2.

s (

310

1

2-3

ab

317719 — 372 _
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Solutions

1. (a_2)3 = a_6 prd

ab

5 £:317719:372:i: 1
- 31 32 9

1\t 23
3. = — = 2_3
2-3 1




Solutions

1. (a_2)3 = a_6 prd

5 £:317719:372:i: 1
- 31 32 9

1\t 23 1
23 1 23




Solutions

1. (a_2)3 = a_6 prd

£:317719:372:i: 1
319 3219
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1 ‘1_2*3_2_3_ 1
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Solutions

L (a 2P =a"t=

2 £:317719:372:i: 1
- 319 32 9
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L (a 2P =a"t=

2 £:317719:372:i: 1
- 3w 32 9




Solutions

L (a 2P =a"t=

2 £:317719:372:i: 1
- 3w 32 9

1\ ! 23 1
23 1 23

4. 26.5% =(2.5)6 =10°
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1
1. (@23 =a0= —
a

2 £:317719:372:i: 1
© 31 32 9

1\ ! 23 1 1
2-3 1 23 |8

4. 26.55 = (2.5)6 =10°% =|1000'000



Solutions

1
1. (@23 =a0= —
a

2 £:317719:372:i: 1
© 31 32 9

4. 26.55 = (2.5)6 =10°% =|1000'000

5 (2)2
b3



Solutions

1. (@23 =a0=

317

2.

310

ab

— 317719 — 372 =
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1
1L (a?)P=aC=|=
a

2 £:317719:372:i: 1
© 31 32 9

(3-8 - (8



Solutions

1
1. (CL_2)3 = a_6 = =
a

3 32 |9

4. 26.55 = (2.5)6 =10°% =|1000'000

R () B




